10,

11.

12.

SECTION - A 10 x 2 - 20
VERY SHORT ANSWER TYPE QUESTIONS
Answer All gquestions. Each question carries 2 marks.
If i (x) = 2x, g(x) = x7, £ (x) =2 then find (Fog of) (x).
Find the domain of V¥ — 3x + 2.

Show that the points —2a+3b+5¢,a+2b +3¢, 7a— ¢ are collinear where
a, b, ¢ are three non-coplanar vectors.

Ha=21+5]+k, b=4i +mj+unk and a, b are collinear, find m, ».
If a=2i+7/—k and b=4i-2j+ 2k, find the value of ¢ so that a and b are

perpendicular.
| ki -S—H; % show that a cos 2w + b sin 2o =a.
a

. 2n A
Find the extreme values of cos x cos | — + x! cﬂs o ¢ |

L3 ) 3
oy
Ifu= lng[ tan [4 ?J

then prove that cosh u = sec ).
‘AN 5 2 : g
If tan |5 | = = and tan | = | = =, determine the relation between a, b, c.
|. 2 | 6 7.0

Show that the points in the Argand diagram represented by the complex numbers

-2+7i - % + %;', 4 — 3i, % (1 + ) are the vertices of a thombus.

SECTION - B 5 x4 =20

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions, Each question carries 4 marks.

o

5T 1 is the equation of a straight line in inter-

Prove by vector method that §+
cept form.

Determine the value of A, for which the volume of the parallelopiped having
coterminus edges i + j, 31 — j and 3i + Ak is 16 cubic units.
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24.

Prove that cos 0 cos (60° + 0) - cos (60%- ) =1 cos 30 and hence deduce that
cos 10° cos 30° cos 50° cos 70" = 3/16.

In the interval 0 < 8 < /2, solve sin 8 + sin 48 + sin 70 = Q.

=

IFTan™ '+ Tan™ ' v+ Tan ' z ==, prove that x + 3 + 2 = xyz,

4 Ei i EE ) EC__'.-'fJ-"'-
Show that @ cos E-I b cos 2++: Cos 2.-5 Fp

Show that 2* cos” 0= cos 50 + 5 cos 30 + 10 cos 0.

SECTION-C 5 x 7 =35

LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks,

If f:A—>B, g:8—>5C, h:C—D are three functions, then prove that|

;I::f:gcaﬂ -— I:Jﬁ‘ng}nlﬁ

Show that 49" + 16n — 1 is divisible by 64 for all positive integral values of n,

In a A ABC using vector method, prove that cos (o — ) = cos o cos § + sin o sin

-

If A+ B+ C=180° then show that sin” A + 5in” =2 sin® —==1-2cos A COS L sin —{:—‘

2 2 2 2 2

Ifr,=8,r,=12,r,=24, showthata=12, b=16, ¢ = 20.

From the top of a hill 200 metres high, the angles of depression of the top and
bottom of a pillar on the level pround are 30° and 60" respectively. find the height

of the pillar.

If cos ot + cos B+ cosv =0 =sino - sin [ + sin v, then show that
i} cos” o + cos’ B +cos”y=3/2 ii) sin’ o + sin® p +sin” y=3/2



